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SEMESTER-I
FUNDAMENTALS OF AGRONOMY
(AGRON 111)

Time : 2 Hours
Section—1I :10

Maximum Marks : 70
Section—11: 60

Attempt all questions.
Answer of Question No. 1 and 2 be written in the space provided alongwith the questions.
in Question-booklet. Answers of Question Nos. 3, 4, 5, 6 and 7 be written in

the Answer-book provided for writilig answers.
In case of any discrepancy in English and Hindi versions of the paper,
only the English version be taken as correct.

aft W w@ e
T WEm | T 2 1 IW yE-gfeE § @ 3 W wm w fae
W WS 3, 4, 5, 6 W 7 F IW G W IW-Yaw H @l
Ifx fFdt g # it 3 o 9w o fEdt wER # oo 8@ A
St ® WA F @ T AEE W w1 IW 2

SECTION -1
quE - |
Time : 20 Minutes] [Maximum Marks : 10

The Objective part (Q. Nos. 1 and 2) is to be covered in the Question paper itself and would be
collected by the invigilator after 20 minutes of the commencement of the examination.

T
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1. Choose the correct answer and write the number of correct answer 1 or 2 of 3 or 4 in the square
given against each sub-question. (10x0.5=5)

qﬁmgwﬂngaﬁm1m2m3m4uﬁmm—m$mﬁﬁﬁnﬁaﬁﬁml

(i) One cusec of water is equal to :

(1) 27.3 Usec

(2) 283 lsec

(3) 100 1/sec

(4) 1000 1/sec.

@ FEE T BT s & T ot B
1y 213 A

@ 283 A

3) 100 SR

@ 1000 S/

(i) Which factor is not influencing ET? l

(1) Sunshine

(2) Wind velocity

(3) Temperature

(4) Effective rainfall.
ﬁw—mmmﬁmﬁmaﬁmi?
1) T TEN

@) a9 T

(iii) Indian Institute of Sugarcane Research is situated at : D
(1) Lucknow
(2) Kanpur
(3) Kolkatta
(4) Coimbatore.
sl T S weer fe t:
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(iv) Humid southern plain agroclimatic zone of Rajasthan is : _____l

() mb

2) IVa

(3 IVDb

4 V.

ToRaA &1 Tl o SR & iy SeEy a@vs o

(1) m=

2 IvH

3 Iva

4) WV

(v) C,H, O are known as :

(1) Primary elements
(2) Structural elements
(3) Macro elements

(4) Beneficial elements.

F1, TRESA 3 HfEE B HE WA §
(1) wafes T

(2) TEIHF T

(3) FE| T

(4) TEEF THEI

J (vi) The available form of K for plants is : pe]
1) K0

@ K*

@) K*

4) KCL

i 1 WRfrm e sEen § Ivesd g §?

1) K,0

2 K+

3) K

4) KCL
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(vii) Which category of seed is genetically purest? l:]
(1) Breeders seed
1 (2) Nucleus seed
(3) Foundation seed
(4) Certified seed.

= 4 3 #F-w A9 aEilet w1 ¥ TR e e
(1) Yo i
(2 = dfiw
(3) SMHR Hiw
(4) vmiforg &)

(viii) Sulphate of potash contains .............. % K,O. D ‘
(1) 46
2) 50
(3) 60
4) 25.
FeHe AE G F K,0 B WS ... e wwdt &1
(1) 46
(2) 50
3) 60
(4) 25.

(ix)  Sorghum helepense is most Common weed of : D
(1) Bajra
(2) Mungbean
(3) Cotton
(4) Sesame.

oW IR B I R wEE ¥ gE e w2
(1) |
2 T
(3) U™
4) fa=
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a3 (x) The example of two years crop rotation is : D
(1) Maize-Potato-Sugarcane
(2) Jowar-Chickpea
(3) Rice-Wheat-Mungbean
(4) Sorghum-Pea.
| faaifa woe =% w1 TEO #
(1) HFHI-3ARG-T1
(2) SER-=
| (3) =EA-TE
(4) TER-"X

| 2. Fill in the blanks : (10%0.5=5)
fa e =t off s .

(i)  The word agronomy has been derived from two greek Words ..........ccccoceveviirerereninesesesennne
T R S AR S MR
T faam #1 S T LA TR s, 3
............................................. q fret € R

(i) " The example of MOHEr CIOP 186 i i vensansssssssists
............................................. WA (BEA) FEA F1 I

(i) The nutrients without which pants can not grow and develop are

BRMIBIE .cisicconassinarvionimmnsmoupmisinsesosionih
3 U ae foe T I g T R T T TFA TR s
Fed 2
V] - Pk 0K SRR  ..viovincisnssosmisssssonsssnsiressminisssioon sinparote operation.
B TR o .....cociciiimimimermmisesiiaina Fd R
5/000/(1,530)/C-455 7 [P.T.O.
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L O TRE Pl ST E o L RS R P Ok s M T is most common herbicide used in pulses.
Tl W EUeEr frawe ® Fm A faw 9R aen gmeed wewgul Y
............................................................. 2l

(vi) The total water budget of the COUNIY I8 ....ccciciivmncnnccnssncrnrsissnsncsnsssnssssasssssnssasassasans
Lo R S . L B A 4

(vii) The botanical name of MOhDEAN S ...........ccccceveicininicrnnicrsrsssnsrerssssosssasssssnssensanse
HE B TOWIE T ......ocoecsssrrcesmsomsmmrenssssssasssmsssssssseoseirectlinest 2

(viii) Growing of same crop year after year on the same piece of land is known.

S s o=
T T TE G TET BT T TE TTT B coooirrismseemssmnessssssssssssssssassssssesnss
Fed B

(x) "VORBE B 8 PR B ..cciicrinsnssasiuiinsiei S P sttt rind irrigation system.
N R e L. fier vt =1 @ W R

(x) Cropping intensity in double Cropping is .......ccceovcimmereesecicineasananas %.
NOUE TR i St wfevm @ geEa e #
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, Bachelor of Science (Honours) Agriculture/B.Sc. (Ag.) and MBA (ABM) Part-I
i Examination of the Four/Five-Year Degree Course, 2019-2020
|

SEMESTER-I
FUNDAMENTALS OF AGRONOMY
‘ (AGRON 111)

SECTION - I
e - 11

e —

‘ Time : 1 Hour 40 Minutes] [Maximum Marks : 60

The Subjective part (Q. Nos. 3, 4, 5, 6 and 7) is to be covered in the Answer-book provided for

writing answers. The Answer-book would be collected by the invigilator when the candidate
finishes as per rules. '

The question paper containing the Subjective part can be taken by the candidates alongwith them.
fyaTeTE W (Y9 W@ 3, 4, 5, 6 T 7) B TN A T Iw-YRaw o few & sw-gia
et g0 Y- Q0 A AR TawE g Freaeger o o s

fawareTs WM F WER-TH wheef o Wy ® W g #

3. Define the following : (5x1=5)
frAfafaa =t sfoanfya FifeT .

(i) Absolute Weeds.
Yy @tgEaER|

(ii) Azolla.
EEcfl

(iii) Salt affected Soils.
T Wi HaET

9 [P.T.O.
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(iv) Utera Crops.

AT HEAI

(v) Real Value of Seed.
CIE il e ol (o

4. Differentiate the following : (2x3.5=7)
freafafes § s Fife :

(1) Seed and grain.
#w 7 T H IR

(ii) Fertilizers and manures.
& T R H I

5. Write short notes/comment/justify the following : (2x6=12)
frafafes =t wew ® feoit/aviq/=ren Fifw .

(i) Botanical classification of crops.

wHEl ® IS FeiEwon

(i) Essential plant nutrients.
AEYIF 9NF Tl

6. Explain any two of the following three questions in 1-1Y2 pages. (2x8=16)
frefafes @7 vt 9 9 ffgf @Y ® IW 1-1% W 9§ g

(i) Discuss various components of Drip Irrigation System. Also mention merits and

demerits of it.
I2-9% fo=r vofy # fafi= wel @ o o aviw #ifvw oo ofy & sv-ufe = st
faa=m =1

5/000/(1,530)/C-455 10




YOOI GIRIGSZSNIN

(ii) Discuss different methods of fertilizers application.
e wam = fafv= fafiml = 3ol Fifem)

(iii) What are principles of weed management? Describe chemical weed control method.
AR YA @ fagln ® R ¥ fafey weeEn frew # et iy e
Fifor|

7. Explain/describe in detail any two out of the following three questions in 2-3 pages. (2x10=20)
frefafas @9 v & @ Bl @ 3 SW 2-3 T 9 wHEmn

‘ (i) What is growth in plants? What are different factors affecting growth and development?
‘ it o gfx 7 #2 3 T R w AW W A HRH A A9 Hi

‘ (i) Describe different sources of irrigation water in Rajasthan.

Ty F AR S SanEl w1 uH S

(iii) Classify N, P and K fertilizers.
A, FICFE TF G AT F Fw Fif
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